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Q.1

Ans

w Qm Iﬂ?TI' T dr9ds 3‘|'=In=+'r dieFd Seddl.

(2rTeaT) =T HTST T STET AgHT (37ETTH) AFTART FATT.
w1

MBI NI 3T T a6 AgAT HeATHTET AR HIATd.
%aﬁmﬁﬁwﬁgﬁmamnmﬁ

%ﬂwmﬁwﬁgﬁmamwm.
%aﬂ&nﬁ#wﬁaﬁrmm%ﬁamﬁmmﬁ.

Question ID
Option 11D

Option 3 ID
Option 4 ID
Status

Question Type :
: 630680291137

: 6306801132457
Option 21D :

McQ

6306801132455

: 6306801132458
: 6306801132456
: Answered
Chosen Option :
Marks :

1
2




2 P Fr=ar @

Ans

‘A T T 7T
a. {THedr | i 3EET
b.gET | ii. 3ATEFA
c.mETw  |iii. e
d. FHST | iv. T&

V. FBR

X 1. a-i, b-iii, c-iv, d-ii
X 2. a-ii, b-iv, c-i, d-v
X 3. a-iii, b-ii, c-i, d-v

W 4 a-i, b-iii, e-i, d-v

Question Type :
Question ID :
Option 11D :

: 6306801132499

: 6306801132501

: 6306801132502

: Answered

Chosen Option :

Marks :

Option 2 ID
Option 3 ID
Option 4 ID

Status

MCcQ
630680291148
6306801132500

1
2

® gorareft eree e

Ans

}(1.q-|-ﬁ1-
X2 T
X3 "
W4 3qeh

Question Type :
Question ID :

Option 1 ID
Option 2 ID
Option 3 ID

Status

McQ
630680291144

: 6306801132484
: 6306801132485
: 6306801132486
Option 4 1D :

6306801132483

: Answered
Chosen Option :
Marks :

4
2




Q4 e A WS & HR - FRRE e e g e,
Ans s ST

X2 gteg

X3 o

X 4 LT

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680291146
6306801132494
6306801132492
6306801132493
6306801132491
Answered

1

2

VAT v AT v FEuiET SEd 39T #:1
A X Tftel & S T AT Teh 37T 3MH FLal.

X2 FATT TF AAT TF F&T AT FHT 9IS g7,
X3
SFAT A 39T FI0T FgUIS FAT TF AAT TF

o 4.
AT FAEAR HTeA G A5 5 FigE FI; TG AT TEAES W WEA 0. 7o A
ST TF HAT U

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680291155
6306801132528
6306801132530
6306801132527
6306801132529
Answered

4

2




Q.6

Ans

T ST o7
‘3 T T T
a. BT A0 i. T STETOT
b. FMMe5UT 30T ii. 37T TS0T
C. TS ATT0T iii. FTOT A0
d. STemer AT YT | iv. AHTRR O
v. ETETa[Er 350

X1 a-iii, b-iv, c-i, d-ii

2 a-i, b-v, c-i, d-ii

X 3 a-i, b-v, c-iii, d-ii

X 4 a-ii, b-v, c-i, d-iv

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680291156
6306801132533
6306801132531
6306801132534
6306801132532
Answered

2

2

Q7 FUTTS HEUTST &7 Tg HUT ek Se. - RS areqrar e |,

Ans

x 1. R msT

W2 HcTUd =+-:|-::.=|;£| =TeFdr

X3 ardiEe A

X4 TATIOE egedr

Question Type :
: 630680291139
: 6306801132465
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

Question ID
Option 11D

McQ

6306801132464
6306801132466
6306801132463
Answered

2

2




Q.8
ATAT S eregm=T &g &1
‘ST
A XK oI T ATE
v 2. SIS dTF
X3 o HIUT 915
X 4 SISAATET JTF
Question Type : MCQ
Question ID : 630680291149
Option 1 ID : 6306801132506
Option 2 ID : 6306801132504
Option 3 ID : 6306801132505
Option 4 ID : 6306801132503
Status : Answered
Chosen Option : 2
Marks : 2
Q.9
Trellel AECGHAE e AR AT TAR .
3. FITAT AT HE
HT. HTFET HAES=aT AATS
. TS HTSIUT
Ans o 1.

SIS WETTerel BT HTSAUT T ATES=aT HATd FHITaT el 1.

x 2

< 3

X 4

T HTSIUT STETAr Fiiidorell HITell el A HFgl HGs=aT FAAT.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680291138
6306801132462
6306801132460
6306801132461
6306801132459
Answered

1

2




Q.10

Ans X 1. * é ?

X 2 Frereadr
o3 grHery
X 4 3‘1311:' Hag:la
Question Type : MCQ
Question ID : 630680291160
Option 1 ID : 6306801132550
Option 2 ID : 6306801132547
Option 3 1D : 6306801132548
Option 4 1D : 6306801132549
Status : Answered
Chosen Option: 3
Marks : 2
QN Y aRTeT TTET FOI - I TSI TATS FHON IS T 1.
Ans : 5
K. gr T THeA ar.
2. ST AT THedA FEA AT,
X3 gr oeITeT THeT I,
X4 r eeRTeT THed g e,
Question Type : MCQ
Question ID : 630680291142
Option 11D : 6306801132477
Option 2 ID : 6306801132475
Option 3 1D : 6306801132476
Option 4 ID : 6306801132478
Status : Answered
Chosen Option : 2

Marks :

2




°‘12@ﬁaﬂzﬁ'mﬁﬂmﬂﬁa TJefrar=ar JF TumET A

Ans

X 1. TOTEIT
X2 gEORE

X3 ﬁ‘mﬂm

v 4 TR

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680291159
6306801132546
6306801132545
6306801132544
6306801132543
Answered

2

0

T grelt TS STRERAT SEAT MR, SO TR ST e,

Ans

« 1. ITgerar gioT - fewehr arsrauor
X 2. FEQIT ITE0T - WES HI0T
X 3. TG FTHISOT - =g 3II0T
X 4 37erEg SO - TETEr &UT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680291152
6306801132517
6306801132518
6306801132516
6306801132515
Answered

1

2




Q.14

Ans

GTeiTeryh HIUTd FHAER Afrseq AET?
.
3l 9Teg U3 AT AT Juir=r e geit @i Aer.

X 2.
THTT 29T 21T e aafaaycny fFar g egiaT SIS g | grEard.
X 3.

THTAT AT ACHINGA Fdle =T U g J9R gra.
X4 FAETETHECY 2 T 30w o weiRT I9

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680291150
6306801132509
6306801132510
6306801132508
6306801132507
Answered

1

2

Q.15

Ans

FIMT Hogir HAgIeET’ - FgUMET ALY HoTar g2
X 1. FRUTHIT Aegrr=T I3AT 0T
V2 T Y FHr o 7T FHTor
X 5. STl WSTETe AU 0T

X4 e JEde T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680291153
6306801132521
6306801132519
6306801132520
6306801132522
Answered

2

2




W sy &g fammel sy 3N vregrer fawane ereq eftem,

A sefamTe
X2 A
X 3. Eﬂ'ﬂ-’l’
X4 FI&S
Question Type : MCQ
Question ID : 630680291147
Option 1 ID : 6306801132495
Option 2 ID : 6306801132496
Option 3 1D : 6306801132498
Option 4 ID : 6306801132497
Status : Answered
Chosen Option : 1
Marks : 2
Q.17 .
HATAT ereg=aAT AT FSTT AT
‘3 AT ‘g T[T
a. X | i. 37TeRrar
b. 3R | ii. F=T
c. T iii. ITEY
d.ead  |iv. d8Th
V. dH
Ans X 1. a-il, b-i, c-iv, d-iii
X 2. a-ii, b-i, c-iv, d-v
W3 a-v, b-, c-iv, d-ii
X 4 a-v, b-iv, c-i, d-iii
Question Type : MCQ
Question ID : 630680291143
Option 1 ID : 6306801132482
Option 2 ID : 6306801132480
Option 3 ID : 6306801132479
Option 4 ID : 6306801132481
Status : Answered

Chosen Option :
Marks :

1
0




Q18 'y Sgrar tuEd IO F1S ATHATETET A0 AT UM FAEATT FEUT e
A X A A weToT B

X 2. 3T AFE AT FET STTeren
v TS T ST IS 9] el
A4 TOUT AT J24T TA1

Question Type : MCQ
Question ID : 630680291151
Option 11D : 6306801132513
Option 2 ID : 6306801132511
Option 31D : 6306801132512
Option 4 ID : 6306801132514
Status : Answered
Chosen Option : 3
Marks : 2

Question Type : MCQ
Question ID : 630680291157
Option 11D : 6306801132535
Option 2 ID : 6306801132537
Option 3 ID : 6306801132538
Option 4 1D : 6306801132536
Status : Answered
Chosen Option : 3
Marks : 2




Q.20 ‘3 3 faear wTe=A FAAY O HOTGE HeUd UF A o FELT el FE A Heon, s

Ans

X Rreg A ord, " aref w9
W 2. g 5T e, o= o1e7 Reamareir
X 3. o FA, S eFqT

X 4. ERTENT AT el

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680291154
6306801132523
6306801132524
6306801132525
6306801132526
Answered

2

2

.21 .
22! TR VTS ITERREAT AU fergATgaR a8

< ggT=gT At a9t SEIdr RewarEr R S
X 2 ggr=ar e Herear THf oudr ReraET Som.
X3 gt oEIdr REEr dRon fSwer Areear Far=a.
X 4 FoT TEIdr R S a9t sierear sar=ar

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680291136
6306801132452
6306801132451
6306801132453
6306801132454
Answered

1

2




22 1
G2 rarstr HERT I TEATd. - FAET AT,

Ans
1 AL AT
X 2 FAOT gaET
X3 T T
X 4 HeRT gAmET
Question Type : MCQ
Question ID : 630680291141
Option 11D : 6306801132473
Option 2 ID : 6306801132472
Option 3 ID : 6306801132474
Option 4 ID : 6306801132471
Status : Answered
Chosen Option : 1
Marks : 2
Q.23 , N
J-‘l_f' A oerdld FpU]a
i X ofas =
&2 37eTeF TSE
X 3 IEAEAT
X 4 gIomEr TR T
Question Type : MCQ
Question ID : 630680291140
Option 11D : 6306801132469
Option 2 ID : 6306801132467
Option 3 1D : 6306801132468
Option 4 1D : 6306801132470
Status : Answered
Chosen Option : 2
Marks : 2




2 refrar a7 FUT @S FT ART?
Ans Xlﬁﬂ' T
X2 A feas

X 3. THTSITETH

4 Td L-Aqnéhﬁ' HE

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 31D
Option 4 ID

Status

MCQ
630680291145
6306801132487

: 6306801132488
: 6306801132490
: 6306801132489
: Answered
Chosen Option :
Marks :

1
2

% frgemw o
Ans X 1. HHEAR
2 HIEHTT
73 iRz
X 4 3ol

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

MCQ
630680291158
6306801132539
6306801132541
6306801132542

: 6306801132540

: Answered

Chosen Option :
Marks :

3
0
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Q.1 Select the most appropriate question tag to fill in the blank.

We're having a great time, _?

Ans o 1. arentwe
X 2. won't we

#< 3. couldn't we

X 4. dont we
Question Type : MCQ
Question ID : 630680274522
Option 11D : 6306801066601
Option 2 ID : 6306801066600
Option 3 ID : 6306801066599
Option 4 1D : 6306801066602
Status : Answered
Chosen Option : 1
Marks : 2
Q.2 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
My teacher told me that she was regularly monitor my progress in academics.
Ans X 1. monitor my progress
/5 2.in academics
/< 3. My teacher told me
% 4. that she was regularly
Question Type : MCQ
Question ID : 630680278258
Option 11D : 6306801081391
Option 2 ID : 6306801081392
Option 31D : 6306801081389
Option 4 ID : 6306801081390
Status : Answered
Chosen Option : 2
Marks : 0
Q.3 Select the most appropriate ANTONYM of the underlined word.
His boss accused him of swindling the money.
Ans X 1.defamed
< 2. dedicated
/X 3. deceased
4 4. defended
Question Type : MCQ
Question ID : 630680252314
Option 11D : 630680979238
Option 2 ID : 630680979237
Option 3 ID : 630680979235
Option 4 ID : 630680979236
Status : Answered
Chosen Option : 1
Marks : 0




Q.4

Select the most appropriate punctuation mark to fill in the blank.

They haven't visited you in your new home have they?

Ans X 1.?(question mark)
X 2., (full stop)
75 3.; (semi-colon)
w# 4., (comma)
Question Type : MCQ
Question ID : 630680274462
Option 11D : 6306801066359
Option 2 ID : 6306801066360
Option 3 1D : 6306801066362
Option 4 ID : 6306801066361
Status : Answered
Chosen Option : 4
Marks : 2
Q.5 Select the most appropriate article to fill in the blank.
This is __ pen that my mother gifted me on my birthday.
Ans X 1.a
#5 2. No article required
" 3. the
X 4.an
Question Type : MCQ
Question ID : 630680274379
Option 1 ID : 6306801066027
Option 2 ID : 6306801066030
Option 31D : 6306801066029
Option 4 ID : 6306801066028
Status : Answered
Chosen Option : 1
Marks : 0
Q.6 Select the most appropriate meaning of the given proverb.

Ans

Barking dogs seldom bite.
#< 1. Little persons are commonly passionate.

o 2. People who threaten a great deal, seldom put their threats in practice.

/X 3. Persons of the same character generally associated together.

75 4. People who are reduced to extreme circumstances will resort to most unlikely means.

r

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
630680252306
630680979204
630680979206
630680979203
630680979205
Answered

4

0




Q.7 Select the most appropriate article to fill in the blank.

Please change _____ torn two hundred rupee note.

Ans X 1.a
X 2.an
o 3. the

X 4. No article required

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274382
6306801066039
6306801066040
6306801066041
6306801066042
Answered

4

0

Q.8 Select the most appropriate option to fill in the blank.

Suraj made a
Ans X 1.victorious

#5 2. conquering

o 3. compelling
X 4. stifling

argument against merciless killing in any warfare.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
630680280680
6306801090957
6306801090958
6306801090956
6306801090955
Answered

1

0

Q.9 Select the sentence with the correct punctuation to convey the right meaning:

The astrologer said you were left for dead. Am | right?
Ans X 1. The astrologer said, You were left for dead. Am | right?

/< 2. The astrologer said “You were left for dead. Am | right?”

% 3. The astrologer said, “You were left for dead. Am | right?”

X 4. The astrologer said; "You were left for dead". Am | right?

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274357
6306801065939
6306801065941
6306801065940
6306801065942
Answered

4

0




Q.10 Select the most appropriate option to fill in the blank.

But the law can only protect us _____ material attack.
Ans X 1.in

o 2. against
< 3. with
X 4.on

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274371
6306801065997
6306801065998
6306801065995
6306801065996
Answered

2

2

Q.11 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.

His father decided / to divide his property / among his two sons / before leaving the country.

Ans X 1.before leaving the country.
#< 2. His father decided
o 3. among his two sons

X 4. to divide his property

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Marks

McQ

630680252297
630680979170
630680979167
630680979169
630680979168

: Answered

4

:0

Q.12 Select the most appropriate meaning of the given idiom.

A dime a dozen
Ans 4 1. Common and not special

#< 2. Uncommon and rare
/X 3. Common and special

#< 4. Common and cheap

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
630680274510
6306801066551
6306801066553
6306801066552
6306801066554
Answered

1

2




Q.13 Select the INCORRECTLY spelt word in the given sentence.

It was her own appaling inadequacy; her cowardice; her mean, water-sprinkled blood that

depressed her.
Ans " 1. Appaling
/< 2. Cowardice
75 3. Depressed

X 4. Inadequacy

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680278096
6306801080741
6306801080743
6306801080744
6306801080742
Answered

1

2

Q.14 Select the correctly spelt word to fill in the blank.

Bill Gates is more than a
Ans X 1. milionaire

/5 2. millionnaire
/X 3. millonaire

%" 4. millionaire

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680274418
6306801066183
6306801066186
6306801066185
6306801066184
Answered

4

2

Q.15 Select the most appropriate synonym of the underlined word.
His acumen in the field of finance was known to everyone in that sector.

Ans  # 1. brilliance
X 2. story
Z< 3. trembling

X 4. contacts

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252922
630680981667
630680981670
630680981668
630680981669
Answered

1

2




Q.16 Select the option that expresses the given sentence in passive voice.

The renowned orator wrote the speech.
Ans X 1. The speech was being written by the renowned orator.
/< 2. The renowned orator was writing the speech.
#< 3. The speech had been written by the renowned orator.

o 4. The speech was written by the renowned orator.

Question Type : MCQ
Question ID : 630680274532
Option 11D : 6306801066639
Option 2 ID : 6306801066640
Option 31D : 6306801066642
Option 4 ID : 6306801066641
Status : Answered
Chosen Option : 4
Marks : 2
Q.17 Select the most appropriate past tense form of the verb ‘end’ to fill in the blank.
After years of conflict, the Russo-Ukrainian war after the cease-fire proposal was
accepted.
Ans X 1.would have been ended
/5 2. will be ending
/< 3. have had ended
o 4. ended
Question Type : MCQ
Question ID : 630680280641
Option 11D : 6306801090801
Option 2 ID : 6306801090799
Option 31D : 6306801090802
Option 4 1D : 6306801090800
Status : Answered
Chosen Option : 3
Marks : 0
Q.18 Select the most appropriate ANTONYM of the given word.
Prudent
Ans X 1. Heedful
< 2. Efficient
o 3. Incautious
75 4. Noteworthy
Question Type : MCQ
Question ID : 630680252541
Option 1 ID : 630680980144
Option 2 ID : 630680980143
Option 3 ID : 630680980146
Option 4 ID : 630680980145
Status : Answered
Chosen Option : 1
Marks : 0




Q.19 Select the most appropriate option to fill in the blank.

The athlete _____ the world record in the 100-metre dash.
Ans X 1.break
/< 2. breaking
o 3. broke
X 4. breaks
Question Type : MCQ
Question ID : 630680274535
Option 11D : 6306801066652
Option 2 ID : 6306801066654
Option 3 ID : 6306801066651
Option 4 1D : 6306801066653
Status : Answered
Chosen Option : 4
Marks : 0
Q.20 Select the most appropriate meaning of the given proverb.
Still waters run deep.
Ans X 1.ltis said about a thing that looks small, but great in quality.
o 2. Itis said about a person who says little, but who might in fact know a lot.
/5 3. Itis said about a water repository that is lengthy in area.
/X 4. 1tis said about a person who says more, and who might in fact know a lot.
Question Type : MCQ
Question ID : 630680280661
Option 11D : 6306801090881
Option 2 ID : 6306801090879
Option 31D : 6306801090880
Option 4 ID : 6306801090882
Status : Answered
Chosen Option : 2
Marks : 2
Q.21 Select the most appropriate option to fill in the blank.
The microwave has stopped working and my pie is only done.
Ans o 1. partially
< 2. briskly
/< 3. adversely
X 4. actually
Question Type : MCQ
Question ID : 630680252327
Option 1 ID : 630680979287
Option 2 ID : 630680979290
Option 3 ID : 630680979289
Option 4 1D : 630680979288
Status : Answered
Chosen Option : 2
Marks : 0




Q.22 Select the most appropriate option to substitute the underlined segment in the given
sentence.

As climate change became an urgent concern, governments and organisations worldwide

are intensifying efforts to mitigate its effects.

Ans X 1.has became an urgent
o 2. becomes an urgent
/X 3. becoming an urgent

25 4. are becoming an urgent

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680280715
6306801091096
6306801091098
6306801091097
6306801091095
Answered

2

2

Q.23 Select the most appropriate option to fill in the blank.

You went to college,
X 1. wouldn't

X 2. aren't
o 3. didn't
X 4. haven't

you?
Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

MCQ
630680274423
6306801066203
6306801066206
6306801066205
6306801066204

: Answered
Chosen Option :
Marks :

3
2

Q.24 Select the option that expresses the given sentence in passive voice.

Suraj and his sister Namrata brought these fresh flowers.
Ans X 1.These fresh flowers were been brought by Suraj and his sister Namrata.
X 2. These fresh flowers are been brought by Suraj and his sister Namrata.
#5 3. These fresh flowers had been brought by Suraj and his sister Namrata.

% 4. These fresh flowers have been brought by Suraj and his sister Namrata.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680274686
6306801067257
6306801067256
6306801067255
6306801067258
Answered

3

0




Q.25 The given sentence has an error. Select the option which rectifies the error.

| made him promise that he wouldn't tell anybody what happen.
< 1. make him promise that

w#" 2. what happened

Ans

#< 3. wouldn't have told
X 4. made him promised that

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274429
6306801066227
6306801066230
6306801066229
6306801066228
Answered

1

0

Section : General Knowledge

Q.1 thgarst 2023 Hed, VT I=T FRATAAT AT JehedTd etear Rofaidh = fAofai=
T WTSHe TR het?

X 1. FAfew

X 2.

X 3. ATy
o 4. AR

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680275621
6306801070995
6306801070997
6306801070996
6306801070998
Answered

4

2

Q.2 @refierdh Hivrd g et emg?

Ans X 1. 310¢ 14 - HIETS THAT
W 2. 3BT 20 — FTIrRyes SnfoY ferenfiads avesar fahara e aHot
X 3. 3% 16 — Trdui-eh YAt arefiaed T eft
X 4. g 17 — SregydT i Sor fo=ar gdar <&t

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
630680270108
6306801049683
6306801049686
6306801049684
6306801049685
Answered

2

2




Q.3 Sicgl STUUTHTS! favagra-sil STl g@rd! aaeud! Tetha gsfad, degT F2 fAdiwed 39
STTOY FeeraT 312 Sl UehReaT IRt SifeieTa ST, A<t Fhivra dava HiaTe<or TE gid?

Ans X 1.hed
X 2. IaRada
o 3. faerfenzor
< 4. garfaar
Question Type : MCQ
Question ID : 630680270133
Option 1 ID : 6306801049784
Option 2 ID : 6306801049783
Option 3 ID : 6306801049785
Option 4 ID : 6306801049786
Status : Answered
Chosen Option : 4
Marks : 0
Q.4 wy~h aeEd faere wrishd (UNDP India) 91 afge g Sfe e shior g=er?
Ans o 1. TTSTTRT ShIc]
X 2. gfara=
25 3. SRISHT RO
X 4 gawe &
Question Type : MCQ
Question ID : 630680269926
Option 11D : 6306801048956
Option 2 ID : 6306801048958
Option 3 ID : 6306801048955
Option 4 ID : 6306801048957
Status : Answered
Chosen Option: 3
Marks : 0
Q.5 w@refierdh v aaferaa shifaer) fRaRuRGH widht awasmTe g gia enfor &iar darad
STUe IT AT e ST 3r&?
Ans X 1. 7RO
X 2. 999 e
W 3. TigLT HgIed sue
X 4. 1ea qroe
Question Type : MCQ
Question ID : 630680275245
Option 1 ID : 6306801069491
Option 2 ID : 6306801069493
Option 3 ID : 6306801069494
Option 4 ID : 6306801069492
Status : Answered
Chosen Option : 3
Marks : 2




Q.6 @refierdeh! srlurd sriaeia faursh i fafdre @t am?
X 1. g ST areant

X 2. g9 e RAT St ot
X 3. @rerf & st weot
o 4. e ofiell areant

Ans

Question Type :
Question ID :

: 6306801074750
Option 21D :
: 6306801074747
: 6306801074749
Status:

Chosen Option :
Marks :

Option 11D

Option 3 ID
Option 4 ID

MCQ
630680276563

6306801074748

Answered

4
2

Q.7 wnfa<tar sifderrR srffAmm, 2005 = St srgEie qrea Arfgedt sghi=t eamaaT=ht g

e ufamTaaT emden g et emd?
o 1. T srgeet

X 2. forerdt orgeeht

X 3. gud orggeft

X 4. <heft et

Ans

Question Type :
Question ID :
Option 11D :

: 6306801069957

Option 31D :

: 6306801069958

Status:

Chosen Option :

Marks :

Option 2 ID

Option 4 ID

MCQ
630680275361
6306801069955

6306801069956
Answered

3
0

Q.8 afci= fRAIERAER WRaren Agudi-t g hetea héia At smatmen e arfgd
SR @IefieTtehl AT THTAT STe?

X 1. dauerm, stera e foRiel) germd snfor sTRaren Agudigr amfAdira il w=t
W 2. daue, deaeidia R ama snfor daumigR TER S dhisme w5
X 3. gauy™, At ddier faRiel ema snfor yrRar wr=amanefiar

X 4. dauy, deadde Rl vema anfor Sediwh (CvC)

Ans

Question Type :
Question ID :
Option 11D :

: 6306801072044

: 6306801072043

Option 4 1D :
Status:

Chosen Option :
Marks :

Option 2 ID
Option 3 ID

MCQ
630680275883
6306801072045

6306801072046
Answered

3

0




Q.9 Which tree species is the most dominant in moist deciduous forests of India?

Ans X 1.Pine
< 2. Ebony
< 3.0ak
o 4. Teak
Question Type : MCQ
Question ID : 630680270539
Option 11D : 6306801051342
Option 2 ID : 6306801051345
Option 31D : 6306801051344
Option 4 ID : 6306801051343
Status : Answered
Chosen Option : 1
Marks : 0
Q.10 FAYH AT WIefieTtehl I THE hetel AT8?
Ans o 1. TR SMTOT HrelSTieh HgwareaT fSehrourie EReTuT &hul.
2 2. 2211 8701 R0 G STATEH el SIS degT AT Vel TSI,
25 3. ST Wi Aehd AT g IR Al ST o STd ot
X A, TSTgCT UTer ot foY fo et snfoy T, rgeast snfoy gt g simeR awot.
Question Type : MCQ
Question ID : 630680270102
Option 11D : 6306801049661
Option 2 ID : 6306801049662
Option 31D : 6306801049660
Option 4 ID : 6306801049659
Status : Answered
Chosen Option: 1
Marks : 2

Q.11 2011 =7 FTUHIER, WRATH I ST ST =T (ST) dlehsedan |rarar & faudt smg?

Ans X 1.455%
o 2.59.0%
X 3.64.8%

X 4.72.4%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680268958
6306801045139
6306801045140
6306801045141
6306801045142
Answered

1

0




Q.12 Which of the following nutrients is necessary for a healthy immune system and the strength

of connective tissues?
Ans X 1.Vitamin B2
% 2. Vitamin C
#< 3. Vitamin B6
X 4.Zinc
Question Type : MCQ
Question ID : 630680270163
Option 11D : 6306801049905
Option 2 ID : 6306801049903
Option 3 ID : 6306801049904
Option 4 ID : 6306801049906
Status : Answered
Chosen Option : 2
Marks : 2
Q.13 5 Atgar 2022 Hsft sTfaes AT SRR Raw JroRT et e, saran fawa g
Ans X 1. fargmiter daria GATHETa STisehdT aTeauaTTd] STaTErd gt gigid seot
< 2. 9aTE Teg (Sendai Seven) AigH
o 3. T AT gerrarautt S oRfes gt
75 4. Snifefc TeRET HHT o
Question Type : MCQ
Question ID : 630680269925
Option 1 ID : 6306801048952
Option 2 ID : 6306801048953
Option 3 1D : 6306801048951
Option 4 ID : 6306801048954
Status : Answered
Chosen Option: 1
Marks : 0
Q.14 o
dedsC SSTHe IR U www d QUi U $1Y 3fg?
Ans X 1.3 arss a8 (World Wide Word)
< 2. acS arss o (World Wide Worm)
o 3. 9 ar1$s a9 (World Wide Web)
X 4. a3 arss fawt (World Wide Wings)
Question Type : MCQ
Question ID : 630680275731
Option 1 ID : 6306801071435
Option 2 ID : 6306801071437
Option 31D : 6306801071436
Option 4 1D : 6306801071438
Status : Answered
Chosen Option : 3
Marks : 2




Q.15 YR FHTSITd fafay aeaniard) agraar mitfi=h halear srerr AnToaT ar @refierdeh! srorar

R RO Fear gler?
Ans X 1. 4TS Ardede
X 2. At sfa
X 3. g Raa
o 4. 718 amafd
Question Type : MCQ
Question ID : 630680278302
Option 1 ID : 6306801081565
Option 2 ID : 6306801081566
Option 31D : 6306801081568
Option 4 1D : 6306801081567
Status : Answered
Chosen Option : 4
Marks : 2
Q.16 In January 2023, Union Government had approved PMGKAY, the new integrated food
security scheme. What does A stand for in PMGKAY?
Ans X 1. Ajivika
o 2. Ann
/X 3. Antodaya
5 4. Anndata
Question Type : MCQ
Question ID : 630680275640
Option 11D : 6306801071073
Option 2 ID : 6306801071074
Option 3 1D : 6306801071072
Option 4 1D : 6306801071071
Status : Answered
Chosen Option: 3
Marks : 0
Q.17 Which river is known for its magnificent marble rocks in Madhya Pradesh?
Ans X 1. Mahanadi River
w# 2. Narmada River
#5 3. Godavari River
/< 4. Brahmaputra River
Question Type : MCQ
Question ID : 630680270178
Option 1 ID : 6306801049964
Option 2 ID : 6306801049963
Option 3 1D : 6306801049966
Option 4 1D : 6306801049965
Status : Answered

Marks :

Chosen Option : 1

0




Q.18 weft Iaure= Snfor HéR IehT=T TeHTE LTI Tl WRATH IUTeeh HTOY UTgeh gieand
frereadt Teiv ®IUT aRvarET g, aieigR o™ £ ofFT (Buy Indian League) =t
TATYAT HRUAT ATl giedl.

Ans X 1. GRMIE
< 2. mrafie g
X 3. gV I
o 4. ST UpeeTe I

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

MCQ
630680270078
6306801049563
6306801049566
6306801049564
6306801049565

: Answered
Chosen Option :
Marks :

4
2

Q.19 fRy=sT v 3feE wr 3me?

Ans X 1. A RO sfaot
X 2. gETen S<hiY didsieh RrAaTd ehigd ot
¥ 3. T e<h! hIUTeT AR HIESTeh Shraferdrer SraT ehed 3iTg ATt =iehsiT ot
X 4. aghre Muadt Jueoft &t

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

McQ
630680275859
6306801071950
6306801071947
6306801071948
6306801071949

: Answered
Chosen Option :
Marks :

3
2

Q.20 1756 T ST FRETATR ATET ABauarars! RRTS1-38-3eM thelchwdihs helet §d @
ETefiertehl T AETED THE HROT IA?

Ans o 1. TR TeTs
X 2. dexrt (Bedara) weTE
X 3. gzt oferd
X 4. et e oerd

Option 4 ID

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

: 6306801049469

Status :

Chosen Option :

Marks :

MCQ
630680270054
6306801049467
6306801049470
6306801049468

Answered
1
2




Q.21 Erefierdehl hIvTeT FATTYYREN HE 9%a% & chefl aidl?

Ans X 1. 79T 3MHE

> FRCECIRICH
< 3. dRer i
X 4. eiEt ha wd
Question Type : MCQ
Question ID : 630680275212
Option 11D : 6306801069362
Option 2 ID : 6306801069359
Option 3 ID : 6306801069361
Option 4 ID : 6306801069360
Status : Answered
Chosen Option : 2
Marks : 2
Q.22 w1 2023 Hed, 3rSAT AFH SATRAFUT REFR Higesdrd @iefierdehl HIome at qufdie Tafepe
gi=ft srnfaserR (Amateur Photographer of the Year) QREhR™ S=H1AT sheodTd SiTet?
Ans X 1. gRewt e
25 2. Ot AR IHEeA
X 3. Rurew
g 4. 37301 TET
Question Type : MCQ
Question ID : 630680275584
Option 11D : 6306801070849
Option 2 ID : 6306801070847
Option 3 ID : 6306801070850
Option 4 ID : 6306801070848
Status : Answered
Chosen Option : 1
Marks : 0
Q.23 @refterdehl shivreaT Wesrger AT 2023 wed, BBC fag wildd gi=q urdst -2022 & g=Arfaa
HRUGTd 3Tt gla?
Ans X 1. gHel 8 i
X 2. grEET Agare
o 3. HIRTSTS AT
X 40 Ry
Question Type : MCQ
Question ID : 630680270034
Option 11D : 6306801049390
Option 2 ID : 6306801049389
Option 3 ID : 6306801049387
Option 4 ID : 6306801049388
Status : Answered
Chosen Option : 3
Marks : 2




Q.24 WRATI TR TR My A Ad=ft Hepeam Ao uATae dheft At

Ans X 1.1855
X 2.1858
X 3.1851
..,f 4.1854
Question Type : MCQ
Question ID : 630680275262
Option 11D : 6306801069561
Option 2 ID : 6306801069562
Option 3 ID : 6306801069559
Option 4 ID : 6306801069560
Status : Answered
Chosen Option : 1
Marks : 0
Q.25 SMTTRE 2022 He&, BUTAd TRBRA @refterdehl hameft Tefdda et 33 Sahars (Rural
Backyard) TiSTT R &hefi?
Ans ..,f 1. GIgUTTA
X 2. Qurad
< 3. AT
X 4. Rfufrear urem
Question Type : MCQ
Question ID : 630680275628
Option 11D : 6306801071024
Option 2 ID : 6306801071026
Option 3 ID : 6306801071023
Option 4 ID : 6306801071025
Status : Answered
Chosen Option : 4
Marks : 0
Section : General Intelligence
Q.1 A, B 3nifoy C ar <fi=1 dtear ges erehien 5 arsia gof sRere. @& C =1 yareran 37 g1 B =1 goe
31Tg STfOr B =T WeTgT= 2RT §T A =0T gUIe 3118, ek A dlé Suseur¥ erehl +wRuarars! fahedt 9o
ner?
Ans X 1.20d9
X 2.25a
X 3.40d9
o 4.3509
Question Type : MCQ
Question ID : 630680287471
Option 1 ID : 6306801117791
Option 2 ID : 6306801117792
Option 31D : 6306801117794
Option 4 ID : 6306801117793
Status : Answered
Chosen Option : 2
Marks : 0




Q.2 fctear arfereha ? =om SRt s/ T ga?

12, 26, 50, 102, 202, ?
Ans  # 1.406

X 2.404
X 3.402
X 4.400
Question Type : MCQ
Question ID : 630680277036
Option 11D : 6306801076640
Option 2 ID : 6306801076639
Option 31D : 6306801076638
Option 4 ID : 6306801076637
Status : Answered
Chosen Option : 1
Marks : 2
Q.3 200 ez SieRTER AT TehT GIGHTEAT UTgH, G TR 8 km/h AT ueg @t diefisr 9 km/h
Ans o 1.1600 #lex
X 2.2000 #Hex
% 3.1000 #ex
7 4.1200 Hfi=
Question Type : MCQ
Question ID : 630680287433
Option 1 ID : 6306801117641
Option 2 ID : 6306801117642
Option 31D : 6306801117639
Option 4 ID : 6306801117640
Status : Answered
Chosen Option : 1
Marks : 2




Q.4 e sierR-wygi= SEET SUTHTo GehRhiaft Heier S8 ATl TH e ST 3eR-

Ans

g i Faer.

GKH : LPM

NEP : SJU
< 1.YHN:DNT

W 2. MTR: RYW

#< 3.1KE: 0QJ
< 4.UJM: APR

Question Type :
: 630680272703
: 6306801059371
: 6306801059372
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID
Option 2 ID

McQ

6306801059374
6306801059373
Answered

2

2

Q.5 275 & ordie fhaa sraielt Yo a¥q 5% Taad i faeheft Sd. fagheamer adiddier 4.5% w1

g, o T @ B 3 R @

Ans X 1.3200
.,,f 2.3250
< 3.3225
X 4.3125
Question Type : MCQ
Question ID : 630680287160
Option 11D : 6306801116548
Option 2 ID : 6306801116549
Option 31D : 6306801116550
Option 4 ID : 6306801116547
Status : Answered
Chosen Option : 2
Marks : 2
Q.6 32f@sa gt Afader 4.15 kg A F+H g, 2@ awi1 58.32 kg e, A= aoi Qiter.
Ans X 1.62.67 kg
X 2.62.57kg
< 3.62.37 kg
w4, 62.47 kg
Question Type : MCQ
Question ID : 630680277268
Option 11D : 6306801077524
Option 2 ID : 6306801077523
Option 31D : 6306801077521
Option 4 1D : 6306801077522
Status : Answered

Marks :

Chosen Option : 4

2




Q.7 et ATl sehsiat gxadf 10% 3 ared. s 2 aufgdf defier sieswar 10,000 g, ar

Ans

TearHt AeraeT fohedt smg?
W 1.12100
% 2.11000
2 3.12000
< 4.12400

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680287214
6306801116765
6306801116763
6306801116764
6306801116766
Answered

4

0

Q.8 SRA =3 ‘'x I, ‘B’ v 3 = I, ‘C’ = 31 -’ 3nfoy ‘D’ = 3 4 IR, AR Wiefierdht

Ans

eparr= gRumrt g<=ar 215 @e?
f1.55A3C4OB4D60

/< 2.55D3B40A4C60
/< 3.55A3C40D4B60
< 4.55C3A40B4D60

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Marks :

MCQ
630680271653
6306801055687
6306801055684
6306801055685
6306801055686

: Answered

4
0

Q.9 Hisar:5x4+2+2.

Ans

X 1.5
X 2.6
X 3.10
o 4.12

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Marks :

McQ
630680277234
6306801077386
6306801077385
6306801077387
6306801077388

: Answered

4
2




Q10 3% .1%.1+.02%.02%.02

Ans

2 X.2x.2+ .04 %.04 X .04
% 1.025
% 2.0.0125

X 3.05
& 4.0125

o qog faudt g2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277252
6306801077459
6306801077457
6306801077460
6306801077458
Answered

4

2

Q.11 AERITETT WA IR SAIsditdeh! di- STisaT1 Gent fAfAE a5 T sad Sfor anys «idT g
€ GOR gdl. ®1 Terd 9 SHuT 3ieRe S Reaer.

Ans X 1.0Q-KM
X 2.CE-YA
< 3.KM-GI
f4. WY-UV
Question Type : MCQ
Question ID : 630680277528
Option 11D : 6306801078563
Option 2 ID : 6306801078561
Option 31D : 6306801078562
Option 4 1D : 6306801078564
Status : Answered
Chosen Option : 4
Marks : 2
Q.12 Ul ol g fohma & srdie fohadi=ar 64% 3. 4% Taeid Rearar giom=ar Twm=ar
TOTAT <hel.
Ans X 1.40%
X 2.45%
< 3.60%
W 4.50%
Question Type : MCQ
Question ID : 630680287164
Option 11D : 6306801116565
Option 2 ID : 6306801116566
Option 31D : 6306801116564
Option 4 1D : 6306801116563
Status : Answered
Chosen Option : 3
Marks : 0




Q.13 Rt mforent adhgear yof glvarandt usiRgr=n (?) SInft @relierd<dt wiomar uafa sier aifgs?

5, 20, 45, 80, 125, ?

Ans #1180
X 2.195
< 3.185
< 4.190
Question Type : MCQ
Question ID : 630680256917
Option 1 ID : 630680997579
Option 2 ID : 630680997582
Option 3 ID : 630680997580
Option 4 ID : 630680997581
Status : Answered
Chosen Option : 1
Marks : 2
Q.14 Zusht quinTaTshaTeR snuTRea Retear mferha wsrRsgrea (?) Srft s st oifgst?
LMO, HNI, DOC, ZPW, ?
Ans  #1.VQQ
2 2.NQQ
X 3.NQP
X 4.MQP
Question Type : MCQ
Question ID : 630680277522
Option 11D : 6306801078539
Option 2 ID : 6306801078538
Option 3 ID : 6306801078540
Option 4 ID : 6306801078537
Status : Answered
Chosen Option : 1
Marks : 2
Q.15 G IR TReseaTse fafre aififer e 2 qufarsd! fjaavyer Feft. Gearen e arftfes 2%
ST &3 [AaYeh chell 3 Et, a7 2 auid STHT TR WReseatsT 3240 i et o a. TR
Teaeielt TeRd Qe
Ans X 1.%24,000
W 2.%6,000
#< 3.38,000
25 4.%16,000
Question Type : MCQ
Question ID : 630680287187
Option 11D : 6306801116656
Option 2 ID : 6306801116657
Option 3 ID : 6306801116655
Option 4 ID : 6306801116658
Status : Answered
Chosen Option : 2
Marks : 2




Q.16 e sigR-Tgi=aT TS e HaUTHHIOE G Ha Y S2ffaumRT sisr-wwqg Rewar
vafaige et

LPN: QUS
CJK: HOP
Ans X 1.HCF:MGJ
X 2. AFK: FKO
X 3.ERU:JVY
o 4. GMS : LRX
Question Type : MCQ
Question ID : 630680272698
Option 11D : 6306801059351
Option 2 ID : 6306801059354
Option 3 ID : 6306801059353
Option 4 ID : 6306801059352
Status : Answered
Chosen Option : 4
Marks : 2
Q.17 31&rR, AR sreeiea @refter Arferdan desf e snftr wema SR an. #Aisroft & dhaw srEiega
Iordiena FRraaTt omg.
() SA!X@D#E$SR%F*V&B*GTU>0<IML (3I51)
A9 ar2ft foreht A2 e, Saidhl vy arasdie sieft Ueh w@R oimg uig ATasdld SR geh @R
aE?
Ans X 1.9R
X 2.d=
o339
X 475
Question Type : MCQ
Question ID : 630680272687
Option 11D : 6306801059309
Option 2 ID : 6306801059308
Option 3 ID : 6306801059307
Option 4 1D : 6306801059310
Status : Answered
Chosen Option : 3
Marks : 2




Q.18 R frum anfor frend wargdes aren. Rumind Reh migd & gm=aaot s awaidaft
NSS! AT SMTESB, a¥t df T T 3 TR oA, e Asepufaht wiorar/a fArend
ftear farem=isht adheie sngd/emgd & awar.
faem:
qd Gid, 3q AT, el T, U 3ad. I 9 SIeRwe 3ngd.
forsertf 1: ST SterRide, daat 3mmad.
farsemf 2: Tl 39, @i sngd.

Ans X 1. %ae fAehy 2 qdhea omR.

X 2.1 fohar 2 Okt wepg fAepet qdhama =gl
o 3.1 fihar 2 8 <) foreenef et e,

X 4. e fsemd 1 qehdTd g,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:
Chosen Option :
Marks :

MCQ
630680276991
6306801076458
6306801076459
6306801076460
6306801076457
Answered

3

2

Q.19 ¥62/kg =1 TgTeT ¥72/kg =a1 agred fahelt ymmond fAges«r e wifigR, Sivieesq fAsromht
fehma 264.50/kg 3/ &e?

Ans X 1.1:2
X 2.2:1
X 3.4:1
w431

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
630680277297
6306801077640
6306801077637
6306801077639
6306801077638
Answered

2

0




Q.20 i<t mferent adhgear yof glvaradt usiRgran (?) SInft @relierd<dl st uafa sier uifgs?

NO2, QR6, TU12,?

Ans 1. WX20
X 2.VW20
X 3.Wv25
X 4.XY22
Question Type : MCQ
Question ID : 630680256901
Option 1 ID : 630680997516
Option 2 ID : 630680997515
Option 3 ID : 630680997518
Option 4 ID : 630680997517
Status : Answered
Chosen Option : 1
Marks : 2
Q.21 SfERITE= Wefie IR Siisgidh! di siisar gent fAfre a2 aa = smae snfor s «ien gk
e TOR glal. & el 9 IHuT 3ieRie it Raer.
Ans X 1.CX-YB
& 2. OK-JR
2 3. MN-IR
< 4.RI-NM
Question Type : MCQ
Question ID : 630680277538
Option 1 ID : 6306801078601
Option 2 ID : 6306801078604
Option 3 ID : 6306801078603
Option 4 ID : 6306801078602
Status : Answered
Chosen Option : 2
Marks : 2
Q.22 gusht quishaTer emenRe Retear miferha usiRegren (?) snft @ araen ga?
R,QOLMH,?
Ans X 1.A
Ww2C
X 3.6
X 4F
Question Type : MCQ
Question ID : 630680272739
Option 1 ID : 6306801059515
Option 2 ID : 6306801059516
Option 31D : 6306801059518
Option 4 ID : 6306801059517
Status : Answered
Chosen Option : 2
Marks : 2




Q.23 Tl ==hl 20 m/min a1 3 100 AR yar et 1oy 70 m/min ar amA 50 AR veaw
). AR AT GRS A fheft em@?

X 1. 35 m/min

Ans
70 i
X2 = m/min

W 3. 229 w/min

3

X 4. 25 m/min

Option 1 1D

Option 31D
Option 4 ID

Question Type :
Question ID :

: 6306801117565
Option 21D :
: 6306801117563
: 6306801117566
Status:

Chosen Option :
Marks :

MCQ
630680287414

6306801117564

Answered

2
0

Q.24 Al Raumr 8 a1 & &, Yeht shiHTeT 12 Rawia gof o 2rekral. B g1 e e, Raara
10 a9 h1H e 8 feawriar yuf &he= 2repal. SR A Sn1for B ar giai-it g feawma 8 ard & &,
@R forelt Rarria a1 ST gof e 2repara?

Ans

Bl
1. 5—
# 11
X2 5£
11
E
X3 6=
11
X4 ﬁi
’ 11
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

McQ
630680287456
6306801117731

: 6306801117732

6306801117733
6306801117734
Answered

2

0




Q.25 R fRum snfor fArerd dergde aran. Reh Rum & armaue! 7ra awidaf I sroear

Ans

3need, Tt oft T omg o T wReH, fAspufadY wivran/a e

faremmish adheia snd/engd & avar.
faum : wd ueft, F=h smga.

a1l it a<ht emga

gl &<, umoft smad.

freen (1): T g=ft, uaft emrga.

s (1l): gt uroft, it emga.

X 1. Faes fep (1) qhgTa s

X 2. freenef (1) Snifor (1) & gt aeheTTa smed

o 3. Fsef (1) e Frsemef (11) SRt gemglt archeiarar meh.
X 4. %haes fhy (1) dEheTd SR,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680272662
6306801059208
6306801059210
6306801059209
6306801059207
Answered

3

2




